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SYMPTON: Roadway nolls vertically.

FIX:

You can sce this on dedicated games & hits. AL finsx,

Lt Looks Like a Lypdieal veriical sync proolem, bui
actually Lt 4is caused by a bad SP CLY rulse which throws
o4 the THT3 (MID SCREEN INTERRUPT) and the rhoadway siarnts
Lo noll nteamdittently at the nalf-way point.

**REFUER 7O SHEET 14 OF SP-298, SCHEMATIC PACKAGE**

Usually very simple and a matten of neplacing the
docketed speech chip on a trhansiston o LST cantrndidge
peb.  The hey to diagnosis cf this problLem is to clech

=5 volt negulators (02 o 93), 79L05/7905, i output L4
Less than -5 change it. I§ -5 45 ok, then use a scope
and Look at SP CLK at Pin 6 of To6Hl (THS5220), thdis signal
nas to be § volts P-P and any Less Lthan that won't wonk.
If s0, trny neplacing 16H ox Q6.
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